Session: 2024-25
SAMPLE PAPER

SUBJECT: ENGLISH MAX. MARKS: 60
CLASS: VI DURATION: 2.5 Hrs

ﬂneral Instructions: \

¢ Read all the questions carefully.

« This paper consists of four sections:

Section A - Reading (15 marks)

Section B - Writing (10 marks)

Section C - Grammar (10 marks)

Section D - Literature (25 marks)

¢ All the answers must be numbered as in the question paper.

* Mention the section and attempt all the questions of a particular section at one place
before going on to the next section.

\ ¢ Attempt all the questions in a neat handwriting. /

SECTION- A (READING)

Q1. Read the unseen passage given below and answer the questions that follow. (8x1=8)

1. The transition to renewable energy sources is becoming increasingly important as
the world grapples with the challenges of climate change and environmental
degradation. Solar, wind, and hydroelectric power are leading the way in reducing
dependence on fossil fuels and lowering greenhouse gas emissions. Solar panels
and wind turbines have become more efficient and cost-effective, making them
viable options for both large-scale energy production and individual use.

2. Despite the advancements, there are still hurdles to overcome in the widespread
adoption of renewable energy. One major issue is the intermittency of sources like
solar and wind power. These energy sources are dependent on weather
conditions and time of day, which can lead to fluctuations in energy supply. To
address this, advancements in energy storage technologies, such as batteries, are
crucial for ensuring a reliable energy supply.

3. Another challenge is the initial cost of transitioning to renewable energy systems.
While the long-term benefits are significant, the upfront investment for renewable
energy infrastructure can be high. Financial incentives and government policies
are often necessary to support this transition and make renewable energy more
accessible to a broader population.

4. Overall, the shift to renewable energy presents both opportunities and challenges.
Continued innovation, investment, and supportive policies are essential for
overcoming barriers and achieving a sustainable energy future.

QUESTIONS:
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What is a primary benefit of renewable energy sources mentioned in the
passage?

A) Increased dependence on fossil fuels

B) Reduction in greenhouse gas emissions

C) Higher long-term costs compared to traditional energy sources

D) Decreased efficiency of energy production

What issue is associated with the use of solar and wind power?
A) Excessive fuel consumption
B) Intermittency due to reliance on weather conditions and time of day
C) Complete independence from energy storage systems
D) Consistent and predictable energy supply

How can the challenge of intermittency in renewable energy be addressed
according to the passage?
A) By reducing the use of solar and wind power
B) Through advancements in energy storage technologies, such as batteries
C) By increasing the reliance on fossil fuels
D) By limiting the installation of renewable energy systems

What is one of the challenges related to the initial cost of renewable energy
systems?
A) The long-term financial benefits outweigh the upfront costs
B) The upfront investment required can be high
C) Renewable energy systems are cheaper to install than fossil fuel systems
D) There are no financial incentives available for renewable energy

What role do financial incentives and government policies play in the
transition to renewable energy?
A) They hinder the adoption of renewable energy systems.
B) They are necessary to support the transition and make renewable
energy more accessible.
C) They are irrelevant to the cost of renewable energy infrastructure.
D) They focus solely on increasing the cost of renewable energy systems.

What does the term "intermittency” most closely refer to in the context of
the passage?
A) Consistent energy production
B) Fluctuations in energy supply due to dependence on weather and time
of day
C) The elimination of energy storage needs
D) Continuous operation of energy systems

According to the passage, what is essential for overcoming barriers to
renewable energy adoption?

A) Reducing investment in renewable energy research

B) Continued innovation, investment, and supportive policies

C) Limiting technological advancements in energy storage

D) Focusing on fossil fuel alternatives only

In the context of the passage, what does the term "viable" most closely
mean?

A) Impractical

B) Unreliable

C) Capable of working successfully

D) Temporary
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Q2. Read the unseen passage given below and answer the questions that follow. (7x1=7)

1. In the heart of the bustling city, a new urban park was unveiled, designed to
provide a green oasis amidst the concrete jungle. This park, named Central Haven,
features lush gardens, winding walking paths, and several tranquil ponds. The
park was created with sustainability in mind, incorporating rain gardens to
manage stormwater and native plants to support local wildlife.

2. Visitors to Central Haven can enjoy various amenities, including a community
garden where locals can grow their own vegetables and herbs. There are also
designated areas for children to play and picnic spots where families can relax and
enjoy the outdoors. Additionally, the park includes an outdoor amphitheater for
community events and performances.

3. Despite the park's many advantages, there were challenges during its
development. Construction delays due to weather conditions and the need for
specialized landscaping techniques were among the issues faced. However, the
dedication of the city planners and the support of the local community helped
overcome these obstacles.

4. Overall, Central Haven has quickly become a beloved part of the city, offering a
peaceful retreat for residents and a venue for community engagement.
QUESTIONS:

1. What is the primary purpose of Central Haven Park as described in the 1
passage?

A) To serve as a commercial space

B) To provide a green oasis in the city and support community activities
C) To house administrative offices for city planning

D) To replace existing residential areas

2. What sustainable features are incorporated into the design of Central Haven 1
Park?

A) Solar panels and wind turbines

B) Rain gardens and native plants

C) Artificial lakes and imported soil

D) High-tech lighting and synthetic turf

3. Which amenity in Central Haven Park is specifically designed for community 1
engagement?
A) The community garden
B) The picnic spots
C) The outdoor amphitheater
D) The children’s play areas

4, What were some challenges faced during the development of Central Haven 1
Park?
A) Lack of public interest and funding
B) Construction delays due to weather and specialized landscaping needs
C) Difficulty in acquiring land for the park
D) Conflicts between the park’s design and existing city infrastructure

5. How did the city planners and local community contribute to the park's 1
development?
A) They increased the budget for construction.
B) They helped overcome obstacles through dedication and support.
C) They redesigned the park to include more commercial spaces.
D) They limited the park’s amenities to reduce costs.

N. K. BAGRODIA GLOBAL SCHOOL, DWARKA Page 3




What does the term "oasis" most closely mean in the context of the passage?
A) A desert
B) A place of peace and refuge
C) A commercial zone
D) A location with high traffic

What role does the community garden play in Central Haven Park?
A) It is used for hosting private events.
B) It allows locals to grow their own vegetables and herbs.
C) It serves as a central feature for city administration.
D) It functions as a parking area for park visitors.

SECTION- B (WRITING)

Q3.

You are Sumit from RM Colony, Jaipur, who bought a colour TV-set from Croma
Electronics three months ago. You find that the set is not up to the mark; its
sound is not clear and the picture changes to black and white every now and
then. The trouble started about 15 days ago. Write an e-mail to the dealer
complaining about the TV-set and requesting him to rectify the defect and if
there is any manufacturing defect, the dealer should replace it with a new TV-
set. (Word Limit: 150 words)

OR

You recently used a car service from AutoXpress, and the service was
unsatisfactory. The car had several issues that were not addressed as
promised. Write an email to the company requesting a refund for the service.
Hints: Vehicle- Registration Number- Issues- Not resolved- Noisy- Lights
flickering- Air conditioner not working. (Word Limit: 150 words)

Q4.

Your mother gifted you a wrist watch on your birthday but you have lost it. You
are scared to share the news with your mother. Write a diary entry about your
feelings. (Word Limit: 150 words)

OR

You are felicitated at school for a remarkable performance in Inter School
Competition. Write a diary entry describing from the preparation for the
competition till the felicitation on securing first position. Describe the event,
how you felt, and what you enjoyed the most. (Word Limit: 150 words)

SECTION- C (GRAMMAR)

Q5.

Read the conversation given below carefully. Convert the direct dialogues into
reported speech. (ANY 4)

Direct Dialogue:

Sophia: "I need to finish this project by tomorrow."

James: "Have you started working on it?"

Sophia: "Yes, I've been working on it for hours."

James: "You should take a short break."

Sophia: "I might do that if [ feel too tired."

James: "You can tell me if you need any assistance."

Reported Speech:

Sophia said that she
James asked if she
Sophia replied that she
James suggested that she
Sophia said that she
James said that

Ul W=

4x0.5=
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Q6. | Fill in the blanks with the correct form of the verb to ensure subject-verb 11x0.5
agreement, including past, present and future tenses: =5.5
During the festival last month, the local artists (showcase) their artwork in the
town square. The exhibits _____ (attract) many visitors and _____ (receive) positive
feedback from the public. The event _____ (be) a great success and _____ (highlight)
the talent in the community.

Now, the artists (prepare) for their next exhibition, which

(take) place in

the nearby city. They ______ (hope) that this new opportunity _____ (bring) even more
recognition to their work. By the end of the year, they _____ (have) a series of
exhibitionsand _____ (expand) their audience.

Q7. | The sentences given below have one error in the use of | Error Correction | 5x0.5=
conjunctions. Identify and correct the errors in each 2.5

line. (ANY 5)

a. She wanted to go to the party, but she was tired and she
stayed home.

b. Neither the teacher nor the students was aware of the
change in schedule.

C The man has all the wealth, so he lives like a miser.

d. As it was cold, we went for a walk.

e. We can go to the museum and the zoo. We need to decide
soon.

f. They are building a mall, wherever there used to be a
market.

SECTION-D (LITERATURE)
Q8. Read the extract given below and answer the questions that follow: (1x3=3)

The high point in Dhyan Chand’s illustrious career was no doubt the quest for gold during the 1936
Berlin Olympics. For the first time he had the honour of leading the Indian team. Just before the finals, the
Indians raised the Indian tricolor and sang Vande Mataram in the dressing room.

a) Why did the Indian hockey players raise the tricolor and sing Vande Mataram in the
dressing room?

b) What were they obliged to sing on the field?

c) Why was Dhyan Chand sad even after winning the Berlin Olympics?

Q9. Read the lines given below and answer the questions that follow. (3x1=3)

When, finally, it all becomes

a nasty mass of slime,

my mother takes it out, and says,
“Apparently, it’s time.”

She dumps it in the garbage can,
though not without regret,

then fills the space with other food
that’s not so ancient yet.

a. Write the name of the poem and the poet.
b. Why does the food turn into a nasty mass of slime?
c. Identify the rhyming scheme of the above-mentioned stanza.
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Q10. Read the lines given below and answer the questions that follow. (3x1=3)

If you can dream-and not make dreams your master;
If you can think- and not make thoughts your aim;
If you can meet with Triumph and Disaster

And treat those two impostors just the same;

If you can bear to hear the truth you've spoken
Twisted by knaves to make a trap for fools,

Or watch the things you gave your life to, broken,
And stood and build ‘em up with worn out tools;

a. Why does the poet that we should not make dreams our master?
b. Identify the poetic device in the above-mentioned lines.
c. Which impostors is the poet talking about?

Q11. Answer any 6 short questions in 30-40 words. (6x2=12)

What kind of dinner meal was the narrator and her family familiar with?

Why was the doctor about to give up on Johnsy’s condition?

How did the seagull react when he saw the food?

How was the Madhubani art form originated?

Describe the character of Arif from the story, The Goal Not Scored.

What was the reason behind lack of customers at Qadir’s stall?

g. What is the technique of Kip that is now followed by runners as a part of their training?

e a0 T

Q12. Answer any 1 long question in 60-70 words. (4x1=4)

“They were beckoning to him, calling shrilly.” Who was it who did not give up on the young seagull?
What did ‘they’ do make him leave the ledge? How do we know ‘they’ rejoiced at his success?

OR

Do you think Dhyan Chand was a gifted hockey player? Illustrate your answer with examples of his
achievements.
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1) faFafaf@a i 1 sgd araerh & 9few AR Seehr dreret AT

2) IGTIT H I WS g- W '3 3IAR'T

3) 31 & 3YYREA Afgd TEIR YReT I T &1 fET 7T A 7 ITefed X g
aRe! & 3R QiU

4) GS'T HAUEAICHS T IS T G, HTcAReh [dehed 8T ST v &

5) fereielt 1 Sig T Araer=h § ufeT 3R Jefeht arel AT

\\6) TATHHT ST W1 & =T & 3 AL Q| /

s 3 (TEJHE W)

e 1- fArfaf@a iy #1 gga g8 v geal & 3 QfSwl (37F-1X5=5)

AT T 3uAe gar g, Safeh g7 3@ gaer aRfEufq, @rar 3R T &
TR A &1 AT & Aeuld df gAR FEHRRT FHT A< Hr GOl &I 37T &
S 8, W I Fef-ael Sliaet # S @ y&er 761 v S| Her Jeg arar, '§s)
I el AL, "B I o HA' S et S Fgl IR Hq 9ged v a0
AR, I Ueh HHEIT TGl gl TRl &1 ST Famel & foIT 316 sl #ca §
31 3l g FFdT &1 eIl AT & ORIy, AT ¥ S wger
Ferdl § 3R GUERT W Hy ST AR 30 &8 &ar FIHRy g Wehall ¢ W
YN IRTEUT, el AR TAH & AR AT BT YAET AT Hehol T &THAT
FecaquT &1 §AR & H IfFd & TGH &l AATSIS [Gh d 6 TR AlS]
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AT & T Sl I 3TSET-37619T ¥k @ &1 el S HehdT| Shiasd #H AT 3R fohar
HI H-AT gl ol Siidel &l YR gl 3«7 & IRFEUE, Frer 3R T &
ITET T FT 3T B IE ¢ & & A H A @ A3 W @ | g FA
MR Shiaet 3T & B gV 87 9 & Rewid 9f3ar o= oid &, Al S g
Siiae & o fohar o

1. 75w Rufa & A 39l 7€t 22

1) 3@ g2 I aRfEufd & gar 7 fhar s
2) 3T JANT e U & AN & fohar Siw
3) 38T TGN IS T & AR o fohar Sw
4) 3HHT T Il HTT & AR o fhar Sme

2. fFH $ I TE & AT & =T -

1) &g & g &

2) I ¥ 3% 39BN & dhdr gl
3) AT & THRET gl & Hehdl

4) 5[ & Wl &

3. Arfaf@d & O Fia-W a9 FeAUFER TUT A5 AE 22

) AU 3TAT T TR AT

2) UMY W I A AR IH &3 &
) Ty T F1T FE & fAT ST I 31s
)

N. K. BAGRODIA GLOBAL SCHOOL, DWARKAPage 2




5. AT # FT AR FAT & 31660 are=t w1 7Y ¢ -

’
2
3
4

) 8 AT &1 AT B8 fear gl

) B AT B TATST & FIEH T B &

) & AT & HANT W Il 3§ ¢

) §H AT B AT & ATY s 2T B &

weeA2- fArAfaf@a g A g @ AT yeal F IW ATl (3HF-1X5=5)

g 93T ATfgcTeR Aifecy AR fadwe ersg &1 aIRAT 3R AJTGT R dASA-7 Al
IR TG 81 aeee St o @y o $o T €1 B dede St A fder el e
AT T ThaT 3T &1 AR T faceit & drfgcy 1 f fhar| gafaw 7 -
AT W 3fefare Tl AT o U Segied 9T S ARAT TAC WA T g
ol T&T| SoTerT hgetl AT T 373G &M 3efare STel® TR 1 fGdr & Al By
& TIYT AT FAT & STI-o19 Bl 3ol & TaAT doh 3SeT hl HITALT HIar & ar
38 W i QY ST S ¢ o @8 @ide AR fFerse § dur 519 @5 369
TR 3T TXAT T R J1r 8. O 38 39Rueg &g &1 Srar g1 doae S
o 3T T IR U all H & Uk eI FATod 3N alel TET ol G Fleh
Ig ey X AT 1 3MaRIehdl & TER TEhd HI 3R gehd B 3T Ao
AR st & Thar gl

1. IR & AR Feat St & RAwT 7 Fla-a1 F91 77 7

() I hdel 3Tl HIMgcd &I &1 el ad U

(@) 9 hdel Tacel Afgcd &1 & 3T ad |

(@) H AT 3EX 39t A1fecT AT Ad T 3T & e HRA JAT el & arfgca
#r #Y Fa T

(&) T8 & HIg |

2. 31qare Wt Ay T WA geEa S F R 9 W e To
() 39 HIfgcT & TIR-JER G

(@) el gy & IR W

(37) 37T drel-dTel I HINT & JIAT W

(F) AT T IRAT TATC WA |
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3. 3306 ¥ R F arefare v o & wost F wwawr St T Awd 97

(37) 3FTaTE e A Rl 7 @ aiRe

(@) 3fgdre fauore Qg f{G=dr & & el g =gv

(31) 3efare foham &1 7 S

(&) 78 & g LT

4.9%9a St F HTER 5w yFR fr {d aal ik e & awd 82
() 3MTH sierdrel

(@) 3§ & geriad &Y

(37) FEH AT 3T Fehchl f&T

(&) 318 & HIg 6l

5. frafaf@a Fye 3R FROT F cAEEF vl qered Y e Rt &
¥ 3fa fawed gawt 3w fAf@w)

HYA(A) BT Hfoer 3 Forse ¢ |

BRUT (R) 35T & 377G STol® T) AT GE # Al B & A1 Hearg el
gl

(@) HUA (A) FET & , HROT (R) el &

(W) &Y (A) el & , FHROT (R) TET &

(1) HUA (A) 3R FROT (R) alal FET & fohe] HROT (R) HUA (A) T HET AREAT el
T

(7) YT (A) IR FROT (R) Sl Far § dUT FROT (R) FHUA (A) I F&1 cIredn
T &l

TeeA3- AT & IMUR W fAmafaf@a weat & sav dfow (= &) (3F-1X2=2)
1- $TTST T TATS &7 &

1) fof@a
2) #Aifgs
3) ATIEATST
4) dichldes
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2- 91T & HATH T § ATT FIT A 87

1) #TST T 3elch FqAT

2) aRadereiierdr

3) farse ua RAIfaTa STt gaRT 9T foham Si1et arelr HreT &9
4) HTYT &7 T faermerdr

3- fheT dcal &Y SATHIOT & HFIT HEWTF ¥ F f{a=ar v ad 272

1) goT
2) eUSE
3) A
4) IGNFT T
2eT4- AeAfaf@d weat & guf {ER & 3R w39 dfov (e aY) (1+2=2)

1-fe # & w9 Fya 78 B2
1) TaX 1588
2) T T 2 AN H ST AT &
3) T TRt Y Sretet 3 311 T o9 3¢ ST TR Fgd &

4) ST TR Y ol § HH THY o9 30¢ gEd Tl Fgd &

2- Tt & @ WgwFa o A ¥ Fi @1 A ¥

1) &
2) 3
3) 7
4)

3- “F&TH” Qe FT Hal qur =g §-2

1) A +3+8T+3+T+3H
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2) A+ +p+ T+ +F+3

) A+A+H+8T+H+T+IT+ 3

) A+H+P+Y+H+d+T+ 3
yesT5- mfaf@d weal & 3¢ B & s W AT @ d) (1X2=2)
1-fF| aFg & A frar @ 87

1) ST A ¢

2) YR FR Tl &

3) gfers = °IR <l gk forT|
4) JH T &ar e

2-FH F YR T Id13T -3 BRAT F FT s 78 FIh § 3@ Fea 8-

1) ThehdH
ARALETED
3) &S fhar
4) GhHS fohdT

-fmfaf@a & @ wwdw frar sia & 87

1) g
2) el

3) forger
4) 33T

9esT6- ¢eg [OR & IR W Arafaf@d yeat & 39t ffow) (Bl &)
(1X3=3)

1-fFT & @ ®C A FT 3EEI0T &7

1) 9ot
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2) faczrerT
3) STeT

4) carer

2- et H ¥ T g FT 3EET &2

1) gIer

2) HTH
3) &1
4) G

3- [T & YR 9T ST oreg AW 3ref & & 3= wea &

1) & A

2) T ereg
3) ANTHG G
4) Y UG

4A- FieT T Ueg AT G ¢l

1) elrer
ZRCCIE
3) 4f&e
4) @fear

Yes7- 3UW IUT Ay & HUR W fArafaf@d weat & 34w dfaw (1X3=3)

1-3H @ fhE s F 39WT &1 yAeT Far I 72
(%) HAged
(@) TEPR

(31) 3TTATHA
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(&) fasfad
2- “FefOAET" # TIT 82

1) 37T
2) o
3) AT
4y 31

3- "Jqgfa" # 3uwer 37
1) 37
2) A

3) 37T
4) 31

Ue8 T & 3MuR W Arafaf@a weal & 3av difaw) (1X3=3)

1. fmafaf@a & @ i 9 goa ug e @ 2
1) #eMY
2) cdeg;
3) gy
4) Sy
2. &1 | &1 3gEIOT FAT §?
1) IR + g&r = 98T
2) 9T + Y = U

)
3) & + Sog = gdeq
4) AR + A9 = HA=T

3. Aeffed & fAT faded @ A god wsg T for@ |
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1) 37+ fea

2) 3] + 3fed
3) 3% + 3fea
4) 3] + Sfed

wRA9- fAFAfaf@a g A g @ AT yeal F IW AT 3F-1X4=4)
FIAIATSl TeheHA YT g1 30T| Slell-"3TehT &A1 YT STl foh Selehl el
T AT §? TG ol WGl & SR BIaT ¢ [ GahleiaR 18 gifel 3oMee dieT i
7 S99, W Igh TeT TAFT §ghIGR &4 oI T@T & 3T e Fig Hr faeard
FAN? Afthed T IfBT o a1 S, el & A & FAT §1 9 HE d AT 4q H
q N 8 9T Fohd | Ho A QU Teh §oIR Feiars O, o9 {37 38 #1@ 997 g1"

1-7%elt are e 3rafasr F4t g ar?
1) TaSTT 919 & HEE o HROT
2) a8 ST IR AT
3) 3HehT HTel o761 Toeh TET &Y
4) 31T FHROT
2-3Tq o1 FTe H1 AR FW AT AT AT A FR Fer?
1) Afgoirr
2) fasra s et
3) gedt
4) TIT HY
3-TTEHI T GEX FAT 87
() GPEIGR AT JIT W AHTARAT AT

T) ghlAeR @l &d W favard e

(
(1) GPTAGR T SIT olel
(

) GFEIGR § 9§48 o FTel
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4-7TS aren o qw # AR A W@ O, 3W gW A A R A & @
FqfH

(%) 3oTehr FRForr 3T el &

(@) 3 sga T @l §

(1) T BT LT 3orr ared

(@) & TF A 3o IRferT ST+ A &

72:710- RFafaf@d Jeaier # weat @ v weaAt & 3w vl (3F-1X4=4)

§H UBT 379ad 9 & ToRagy o I i,
heleh-cToldl & T Jelfehd TW &€ SATLA|
§H S8dT Sfel 9l dTel AT SATULT ${E-TIT,
FE AT § FCH AN Hedh-deNT HT Aar Hl
1- oftral & Ry & FH Aot weh §2

2- q&ft W-IW Fa A SACN?

&) S 3¢ Gl oTel [¢dT ST

) S 3o¢ Hadr & & Sreefr

) S ®ER A Her A1 & e
") 39 3o¢ Ao # &g &< fgar arwen
3- Has F F1 AT Fawr uds §2
%) gE-glaemsit 1

@) HeIM aE3T FT

) GRIEfleT Siidet oAl

) 3R T JET Side] T

(
(
(
(

(
(
(
(
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4- FHecah T HY §-
1) #Hrar

s 'T H quidica®
weT11- Pfaf@a weal F @ Al o weal & & 3 S (3(%H-3X2=6)
1) ToY 3R SEAY T 7 FIATATT FATS 9715 82
2) T Fleleldh o TTGAT I GAThHTT FAT el o2
3) Sglell & 37 H TASTS aTel o fohd ShIOT U U1 Shgl- " 319 I UG g1 ofen |

TeeT12- fAafaf@d weat & & fedr & weat & 3w aforT (31F-3X2=6)

1) 9oférat &t areEn 3RA § srEr @ e RER Al (@9 98 3EET e &
Ffadr )
2) X oE S gE-giatmt ureny $it gail TeR # 5 a7t w181 el dredt ?
3) T&ll 3ol TG Tl hlel-ahled A STOTT G AT M6 872
g 13- farsfafad # & fhd ve fawar oY e are e faegait & 3mermy ox wrersior 80
eeal # T He[eoq [ATa- (37 H-1X5=5)
1- R TER{d- Tehd foig
1) HATAGT 3TEeT
2) Aifder 7T
3) 3R
4) ITEITcH I &l

2- FgeTTeTcT-Tehd foig

1) TgeTefrerdr &1 37
2) GgAMeldr T HTaeThdT
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3) sAfcier Hea IR g@e shast
3- BT 3 ATHA- Hehdd foig
1) 37IRIMHeT 7 379 3R HAged
2) 3eIRAHeT Y TUH YISATAT-IRAR

3) chTercaTel 3N HATTSTR Siide o TAUTRIMH JTaTeh
4) 3IRAHT Ueh Heca Ul Sildel Hed

9eT14- mﬁmﬁwwmaﬁﬂm@ﬁ?aﬁwml (5)
3YdT

mﬁ@?aﬁﬁﬁ@ﬁmmgwﬁf@m

q2d- 15:ﬁ%ﬁcmﬁaﬁm§caﬁwtréf§rmaﬁ.aam#m1oo-120
ereg A RF-auia +Y| (5)

S|
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Sample paper -1
SUBJECT: Spanish MAX. MARKS: 60

CLASS: VII DURATION: 2.5 Hr

/General instructions: \

This questions paper consists of four sections

e Seccidn A Lectura
e Seccion B Escritura
e Seccion C Gramatica
e Seccion D Literatura

All questions are compulsory

\Read the questions carefully before answering. /

Seccion A lectura

Q1. Lee el siguiente texto y contesta las preguntas. 5

Me llamo David. Voy a hablar sobre mi vida. Trabajo en un centro de deportes un poco lejos de mi
casa en los fines de semana. El sdbado y el domingo me levanto a las siete, tomo el autobus y llego al
trabajo a las ocho y media. Almuerzo a la unay salgo del trabajo a las cinco. Todas las personas en mi
oficina son muy buenas pero me gusta Ana, es mi compafiera y también mi mejor amiga. Ana es muy
amable y organizada. Aprendo mucho en mi trabajo sobre los deportes. Otros dias estudio en el
colegio. Después de mi colegio termina me gusta estudiar mds. Me gusta mas la informatica. Trabajo
en el centro de los deportes porque me encantan los deportes y me gusta ser futbolista. Me encanta
mucho el futbol especialmente el Real Madrid pero la profesion de futbolista es muy dificil.

Las preguntas

i) éPor qué trabaja David en el centro de deportes?
ii) ¢Qué hace de lunes a viernes?

iii) ¢Qué le gusta hacer después del colegio termina?
iv) ¢ Cuantas horas trabaja?

v) ¢Quién es Ana?

Q2. Lee el dialogo y escribe “Verdadero o Falso”:- 5

Carlos: ( Qué podemos hacer hoy? ¢Tienes algun (some) plan?




Mercedes: No, no tengo nada especial.

Carlos: ¢ Quieres ir a bailar a alguna discoteca?

Mercedes: No, no me gustan las discotecas.Hay mucha gente y no prefiero la musica.
Carlos:¢Vamos a cenar en algun restaurante chino?

Mercedes: Hoy es sabado y mucha gente sale a cenar alli y no tenemos una mesa reservada. No
podemos buscar otro lugar para ir. ¢Por qué no vamos a visitar a Pepe y a Luisa?

Carlos:iBuena idea! Voy a llamar ellos ahora para ver que ellos estan en la casa.

Pepe: jHola!

Carlos:jHola! Pepe, soy yo, Carlos. ¢ Qué vais a hacer esta tarde?

Pepe: Esta tarde tenemos que quedarnos en la casa y trabajar para nuestro examen. ¢y vosotros?
Carlos: Ahora no tenemos algun plan. Pepe: ¢Por qué no visitais? ¢Te gusta el plan?

Carlos: Pero, éno tenéis que estudiar? No queremos molestar (trouble) a vosotros.

Pepe: Vosotros nunca molestais , es bueno de vez en cuando nos quedamos juntos en nuestro
tiempo libre.

Carlos: jPor supuesto! Vemos pronto. Pepe: jHasta pronto!
“Verdadero o Falso”
1. Mercedes tiene planes para esta tarde.
2. Carlos quiere comer la comida china.
3. Pepe esta fuera de la casa.
4. Carlos y Luisa hablan por el teléfono.
5. Pepe invita a Carlos y Mercedes a su cas
Seccion B Escritura

Q3. Escribe un correro electrénico a tu amigo Juan/ Laura ¢Qué haces en los fines de semana? En
60-90 palabras. 6

Escribe ¢ Qué vas a hacer en los veranos?

Q4. Mira el dibujo y escribe 6 oraciones cualquiera en estar + gerundio. 6

——T e -




Seccion C Gramatica.

Q5. Completa las palabras. Son seis partes del cuerpo. (3)
a.P..E b.R.....co...a. ¢.O.. .. a d.C.. ... e.B......0 fM.. .. 0.

Q6. Completa las frases con el verbo correcta. (5)

i)Yo (beber) la leche.

ii)Ta___ (volver) ala casa.

iii) Vosotros _____ (trabajar) mucho.

iv) Ustedes _ (romper) la mesa.

v)Ella__ (salir) para la escuela.

vi)Usted __ (ver) una pelicula.

vii) Daniel y Marco ____ (visitar) el centro comercial.

viii) Larissa_____ (jugar) en el parque.

ix) Vosotros _ (llegar) a las ocho.

x) Ellos __ (aprender) los verbos

Q7. Completa los espacios con la forma de poder + infinitivo. (2.5)

1. Yo y mis hermanos no mucho
(navegar) por el internet.

2.Tu (limpiar) la habitacién.

3. Ellos (acostarse) temprano.
4. Vosotros (reglar) las plantas.

5. Peter (andar) en el parque.

Q8. éCompleta con porque vs por qué? (2)

- TR vas al parque? .......ceeeeeene yo tengo que jugar
con mis amigos.

o TR no visita a la clase de médico? ............ tengo que
comprar para mi familia.

Q9. Escoge la palabra correcta. 25
1. La mano tiene............

a. seis dedos b. cinco dedos.

2. los animales duermen ............. Del corral.

a.dentro b. fuera

3. cesar quiere ............ granjero.

a.una b.ser




4. ¢{Por qué vas al médico? ........cceueuenne me duele la cabeza.
a. por que b. por qué?

5. Miguel va a cumplir ............... anos.

a.doce b. trece

Q10. Escribe la preposicién correcta. (3)

A i

Q11. Completa los espacios imperativos. (2)
- SR (hablar) mas despacio por favor.

b.no ... (gritar) mucho.

(o (leer) el texto.
dooereeen, (caminar) rapido.

Q12. Completa con mucho o poco. (3)

1. Yo no tengo................... boligrafos.

2. La madre de mi prima es.......ccccuevvenee. bonita.

3. éEs la escuela.................. cerca de la casa?

4. Las chicas tienen................. amigas.

5. Hay e, casas bonitas.

6. La comida de este restaurante es ............. deliciosa
Seccidn — D literatura.

Q13. Responde a las preguntas. (4)

1. ¢Qué fruta esta recogiendo cesar?

2. ¢Quién le duele la mano?

3. ¢Quién quiere ser granjero?

4. ¢Quién le da una crema?

5. ¢Quién tiene que vacunarse?

Q14. Ordena las frases siguiendo el dialogo.  (3)

e Mario estd hablando por teléfono con su novia.
e  Miguel y su familia estdn en la playa.
e Sol y miguel van a bafarse.




Q15. Escribe algunas frases sobre los animales. Lo que nos da.
(2*2=4)

Q16. ¢Qué sabes de Espana? ¢Escribe algunas frases de Espaiia?

(3)
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General Instructions:

1. This Question Paper has 5 Sections A-E.

2. Section A has 12 MCQ's carrying 1 mark each.

3. Section B has 6 questions carrying 2 marks each.
4. Section C has 3 questions carrying 03 marks each.
5. Section D has 3 questions carrying 05 marks each.

6. Section E has 3 case based integrated units of assessment (04 marks) with subparts of the values of 1, 2 and
1 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 1 question of 5 marks, 1 question of 3 marks
and 2 questions of 2 marks has been provided. An internal choice has been provided in the 2 marks question of
Section E

8. Draw neat figures wherever required. Takesr = 22/7wherever required if not stated.

SECTION: A

Q. No Questions Marks

Ql. A place P is 82 m above the Sea level and another place is 13 m below the Sea level. |1
What is the distance between the two places?

a) 90cm b) 69 cm ¢) 95 cm d) 85 cm

Q2. In the given figure, the value of y is 1
(a) 30° (b) 15° (c) 20 (d) 22.5°

6y
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Q3.

Shifting one term from one side of an equation to another side with a change of sign
is known as

a) Commutativity b) Transposition c¢) Distributivity d)
Associativity
Q4. 1.1 X 0.1 X0.001 =
a) 0.0011 b) 0.00011 ¢) 0.011 d) 0.11
Qs. Leena is two years younger than Meena. If Meena is x years old, then age of Leena is
a)x+2 b)x-2 c) 2x d) x/2
Q6. Study the double bar graph and answer the questions that follow:
4 B Girls
T 351 M Boys
! 30+
§ 25+ . :
2 201 = 5
v i . ';‘.
5 15t 2 :
£ 107
zZ st .—‘-z ‘N
- 2 *
VIIA viB VIC WVID "E
Sections of Class VIl—»
in which sections, the number of girls is greater than the number of boys?
a)A b) D c)Aand B d)Aand D
Q7. Which of the following figures will have its altitude outside the triangle?
(c) /\ (d)
Q8. Find a pair of integers whose sum gives an integer greater than both the integers.
a) (9,8) b) (9,-8) ¢) (-5,8) d) (-9.-18)
Qo.

Pictorial representation of 3x2/3 is;

® @
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Q10. | Which of the following is incorrect?
6
(a) 21 =2,2
(b) 2= .4
(c) 2.2+ 23=180°
(d) 23+ .4=180°
QI11. |InaAABC, which of the given condition holds?
a) AB—-BC>CA
b) AB + BC <CA
C)AC-BC>AB
D) AB + BC>CA
Q12. | Assertion: The mode is always one of the numbers in a data
Reasoning: Mode of 2, 3,4,5,0, 1, 3, 3,4, 3 is 3..
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is not the correct explanation of A.
c) Ais true but R is false.
d) A s false but R is true.
SECTION: B
Q13. Can you find a pattern? If yes, complete the following blanks:
_11:_8,_5:_25 5 ) )
OR
A man has Rs. 20,000 in his account in a bank. He withdraws Rs. 3000 per month
for the first two months and deposits Rs. 5000 on third month. What will be the
balance in his account after 3 months?
Q14. In the given figure, P, Q and R are collinear points and TQ L PR,
Name:
(a) Pair of complementary angles
(b) Pair of adjacent angles.
Qls. In a class of 35 students, the number of girls is two fifth of the number of boys.
Find the number of girls and boys in the class
Qleé. The number of trees in different parks of a city are 33, 38, 48, 33, 34, 34, 33,30 and 24.
Find the median of this data.
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Ql17. In the given figure, if RP=RQ, find the value of x.
Q
& 50°
R
OR
In the given figure, if y is five times x, find the value of z.
R
mb
< - Y
P< Q s
Q18. . . . .
A postman walks 5§ km in a day. How much distance will he cover in 55 days?
SECTION: C
QI9. In Figure, find .x. Further find :BOC, ~COD and -AOD.
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Q20.

Observe the given bar graph carefully and answer the questions that follow.

1200 ﬁ XYZ Automobiles Ltd

g 8

4

Production of Motor Bikes —»

Y5858 38 3

;

(a) In which month the production was minimum and what was it?
(b) How many motor bikes were produced in the first three months?
(c) In which month was the production increase the highest compared to the
previous month?
OR
Age (in years) of 6 children of two groups are recorded as below:
Group A 7 7 9 8 10 10
Group B 7 9 11 12 12 12

(a) Find the mode and range for group A.
(b) Find the mean age for group B.

Q21.

In Fig. 37, the sides BC, CA and BA of a A ABC have been produced to D, E and F
respectively. If ~LACD = 105¢ and ~EAF = 45¢; find all the angles of the AABC.

450

105°
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SECTION: D

Q22.

A. A milkman sells 42 litres of milk at rupees 25.50 per litre to a hotel. How much
money

will he get from them?
B. Simplify and Reduce in simplest form :

3

X1

'JlllJ

sl

(J]I
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Q23.

A. In the given figure, AB||CD. Find the reflex <EFG.
A E B

~
L

v

B. In the given figures below, decide whether | is parallel to m.

1

\ —/

50°

130‘"‘\

OR
A. In the below mentioned diagram if AB, CD and EF are straight lines, then p + q
+tr=

e

>M

N

B. In the below diagram find the value of 'p' if X is parallel to Y.

X
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Q24.

A. Raju’s father’s age is 7 years more than three times Raju’s age. Find Raju’s age,
if his father is 70 years old
B. A group of students collected money for a charity event. If they collected a total
of Rs. 24,000 and there were 15 students, write an equation to represent the
situation and find the amount each student collected.
C. Write the equations in statement forms :
3p+4=25

Q 25.

Suresh is having a garden near Delhi. In the garden, there are different types of
trees and flower plants. One day, due to heavy rain and storm one of the trees got
broken as shown in the figure. The height of the unbroken plant is 15m and the
broken part of the tree has fallen at 20 m away from the base of the tree.

Which property will be used to find the length of broken part of the tree?

If the tree isn't standing straight, determine the location of the third side between
the other two sides.

OR
Calculate the height of the broken part that fell.

iii)

Name all the sides of a right angled triangle

Q 26.

In a society, there were 100 members. Each member has to participate in one

3
activity like art, basketball, cricket and football. E of the members participated

1
in art, E in basketball and 17 played cricket.

How many members participated in Art?
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How many members participated in football?

OR
Were members participated in cricket and art more than members participated in
cricket and basketball? Justify.

iii)

How many members participated in cricket and basketball?

Q27.

A multistorey building has 25 floors above the ground level each of height 5 m. It
also has 3 floors in the basement each of height S5m. A lift in building moves at a
rate of 1 m/s.

!

;

Calculate the total number of floors in the multistorey building, including both
above ground and basement floors.

If a man starts from 50m above the ground, how long will it take him to reach at 2nd
floor of basement?

OR
A lift travels from the 5% floor to the 9t floor of a building. With each floor
having a height of 5 meters, how much distance does the lift cover during this
vertical journey, and how much time will it take

iii)

If the elevator starts from the ground floor and travels to the 15th floor above
ground level, how many seconds will it take to reach its destination? Assume the
elevator moves at a constant speed of 1 m/s.
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General Instructions:

e Read all the questions carefully. All questions are compulsory.

e (i) The question paper comprises four sections A, B, C, D and E. There are 26 questions
in the question paper.

e (ii) Section—A - question no. 1 to 10 - all questions and parts thereof are of one mark
each. These questions contain multiple choice questions (MCQs), and assertion -
reason type questions.

e (iii) Section—B - question no. 11 to 15 are Very short answer type questions, carrying 2
marks each. Answers to these questions should in the range of 30 to 50 words.

e (iv) Section—C - question no. 16 to 21 are short answer type questions, carrying 3
marks each. Answers to these questions should in the range of 50 to 80 words.

e (v) Section—D — question no. - 22 to 24 are source-based/case-based questions carrying
4 marks each with sub-parts.

e (vi) Section—E — question no. — 25 to 26 are long answer type questions carrying 5
marks each. Answer to these questions should be in the range of 80 to 120 words.

e (vii) There is no overall choice. However, internal choices have been provided in some

guestions. A student has to attempt only one of the alternatives in such questions.

(viii) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION-A (1X10=10)

1. Which canned drink will remain cold the longest? (1)
B/Ubble pack Colton wool  Aluminium foil
Z s
T N P e e N
B AR 7 3
PAS G N EPAS G e NS LA O AN
@by DAL g BICRN R -~ 214
Y o) St W R ¢ Al -\
A A WS wl) A JOLY
(\"L'.-ai_'../.—, '\'::,: L-’l} \_~_L~‘_‘
o R
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A)P B) O

C) R D) Both P and Q

2. A student took an iron rod and a wooden rod and wrapped each of them in a piece of paper. These
were then heated as shown. It was found that the paper around the iron rod does not burn whereas the

one around the wooden rod catches fire. It is because (1)

i Paper Paper
Wooden fron rod
rod - = é

[t 3

A) Candle, in case of iron rod, is nearer to the paper

B) Wood being a bad conductor of heat, takes away all the heat
C) Iron being a good conductor of heat, conducts away the heat given to the paper
D) Paper, in first case, is thicker.

3. When Vedika washed a stain of vegetable curry on her suit with a cloth washing bar then it turned

brownish-red, then it shows that the: (1)

A) Stain was of turmeric and the cloth washing bar was basic.

B) Stain was of turmeric and the cloth washing bar was acidic.

C) Stain was of ice-cream and the cloth washing bar was acidic.
D) Stain was of yellow paint and the cloth washing bar was acidic.

4. Which of the following are corrosive and can burn the skin? (1)

(i) Copper hydroxide

(ii) Ammonium hydroxide

(iii) Sodium hydroxide

(iv) Potassium hydroxide

A) (ii) and (ii) B) (iii) and (iv)

C) (ii) and (iii) D) (i) and (iv)
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5. Refer to the given graph which shows the effect of pH on the activities of three enzymes, X, Y and Z.

=
¥
= x z
-d /
=
=
(=" \
. | 1 ] . ’ . L
2 = & = 10 12
F=2 3

Which of the following are the possible locations in the alimentary canal of man where the three

enzymes can be found? (1)
X Y VA
A) Small intestine Mouth Stomach
B) Mouth Stomach Small intestine
C) Stomach Small intestine Mouth
D) Stomach Mouth Small intestine
6. Cellulose-rich food substances are good sources of roughage in human beings because (1)

(a) Human beings do not have cellulose: digesting enzymes
(b) Cellulose gets absorbed in the human blood and converts into fibres
(c) Cellulose-digesting bacteria convert cellulose into fibres

(d) cellulose breaks down into smaller components which are egested as roughage

7. Which of the following types of nutrition is exhibited by the figure given below?

(1)

A) Autotrophic nutrition.

B) Saprophytic nutrition.
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C) Parasitic nutrition.

D) Symbiotic nutrition.

8. The given diagram shows a destarched, variegated leaf, partly covered by black paper. The plant is

placed in bright light for several hours.

Black paper

Green area
White area

Four discs are then cut from the leaf in the positions shown and are tested for starch. Which discs

do/does not contain starch? (1)

A) 1,3 and 4 only
B) 1 and 2 only
C) 2 only

D) 3 and 4 only

Directions: Q.9 and 10 are Assertion-Reason Type Questions. Read the given statements and select the
correct option as given below-

A. Assertion and reason both are correct statements and reason is the correct explanation for
assertion.

B. Assertion and reason both are correct statements and reason is not the correct explanation

for assertion.

Assertion is a correct statement but reason is a wrong statement.

D. Assertion is a wrong statement but reason is the correct statement.

0

9.Assertion: An iron ball at 35°C is dropped in a mug containing water at 305.15 K. Then the heat
will flow from the water to the iron ball.

Reason: In convection, heated molecules of a liquid themselves move to carry heat from the hot
region to the cold region. (1)

N. K. BAGRODIA GLOBAL SCHOOL, DWARKA Page 4




10.Assertion- Acid turns blue litmus red and bases turn red litmus blue.

Reason- Substances which are neither acid nor basic are called neutral. (1)

11.

12.

13.

14.

15.

SECTION-B (2x5=10)
a. Cellulose rich food substances are good source of roughage in human beings. Justify. (1)

b. Why are insectivorous plants called partial heterotrophs? (1)

Gastric glands in stomach release acid X, enzyme pepsin and mucus.
a. ldentify X (1)
b. What will happen if mucus is not secreted by the gastric glands? (1)

Nitesh was playing with his friends in the garden. Suddenly, Nitesh was stung by a honeybee and
was in great pain. Immediately, his friends call his mother. She applied baking soda solution on the
affected area and then took him to the doctor.

Read the above passage and answer the following questions:

(a) What could be the reason for this burning pain? (1)

(b) Why did his mother applied baking soda solution on the affected area? (2)

What happens when an iron blade of a knife is dipped in a copper sulphate solution? What kind of
change takes place? (2)
The process of digestion is a chemical change. Explain (2)

16.

SECTION-C (3X6 = 18 MARKS)
i. Harish went to visit his grandfather in village where he saw that his grandfather’s field of wheat

are infected with fungus but no one is aware of this. Harish rushed to his grandfather’s side and
told him that the field have been infected with fungi. He should use an antifungal agent in his
fields to stop this infection.

(a) What is fungus? (1)
(b) Can fungus only cause diseases or can it be helpful also? Explain how. (1)
ii. For testing the presence of starch in leaves, a boiled leaf is used. Why? (1)
OR
16. a.Distinguish between a parasite and a saprotroph. (2)
b.Name the bacteria that can fix atmospheric Nitogen. (1)

17.

a. Ruminants such as cows and buffaloes swallow their food hurriedly and then sit restfully and
chew their food. Give reason. (1.5)

b. The finger-like outgrowths of Amoeba helps to ingest food. However, the finger-like outgrowths
of human intestine has a specific function. Name them and explain their function. (0.5,1)
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18. a. To keep her soup warm, Paheli wrapped the container in which it was kept with a woollen clothes.
Can she apply the same method to keep a glass of cold drink cool? Give reason for your Answer.

(1.5)
b. The mercury does not fall or rise in a clinical thermometer when taken out of the mouth. Explain
why. (1.5)
19. A circular metal loop is heated at point O as shown in figure.
(a) In which direction, would heat flow in the loop? (1)
(b) In which order, the pins at points P, Q and R fixed with the help of wax fall if points O, P, Q and
R are equidistant from each other and why? (2)

20. A farmer was unhappy because of his low crop yield. He discussed the problem with an agricultural
scientist and realized that the soil of his field was either too acidic or too basic. What remedy would
you suggest the farmer to neutralize the soil? Explain. (3)

21. i. Complete the following reaction (1)
Ca (OH); +CO2 >

ii. Write word equations for two chemical reactions with the help of materials given in the box. (2)

Air, copper sulphate, iron, vinegar, iron oxide, carbon dioxide, iron sulphate, copper, Calcium
carbonate, lime water, water

SECTION-D (3x4=12 MARKS)

Directions: Read the passage given below and answer the questions that follow.

22. Heat is the transfer of thermal energy between substances. Thermal energy is the kinetic energy of
moving particles of matter, measured by their temperature. Thermal energy always moves from
warmer to cooler substances until both substances have the same temperature.

What is the role of Thermometer in heat transfer? (1)
Name two materials that are good conductors of heat? (1)
A beggar wrapped himself with a few layers of newspaper on a cold winter night. Explain how
this helped him to keep himself warm. (1)
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23.

24.

25.

4. A marble tile would feel cold as compared to a wooden tile on a winter morning. What could
be the best possible reason for the same? (1)

_Plants use simple chemical substances like carbon dioxide, water and minerals for the synthesis of
food. Chlorophyll, water, carbon dioxide and sunlight are the essential requirements for
photosynthesis. Complex chemical substances such as carbohydrates are the products of
photosynthesis.

1. Write the word equation to describe the process of photosynthesis. (1)

2. Why green plants are called Autotrophs? (1)

3. Have you seen one non-green plant that is consumed at every home? Name it and also explain
its mode of nutrition. (1)

4. Name the following: (0.5X2=1)

a. A parasitic plant with yellow, slender and branched stem.
b. The pores through which leaves exchange gases.

_An acid is defined as a substance whose water solution tastes sour and neutralizes bases. A
substance is called base if its agueous solution tastes bitter or neutralizes acids. Salt is a neutral
substance whose aqueous solution does not affect litmus. Salt is classified into different
types acidic, basic, normal, and double. Acidic salt is formed when a strong acid reacts with a weak
base. Basic salt is formed when a strong base reacts with a weak acid, and neutral salt is formed
when a strong acid and base react.

1. Which of the following sets of substances contains acids? (0.5)
(a) Grapes, lime water
(b) Vinegar, soap
(c) Curd, milk of magnesia
(d) Curd, vinegar

2. Phenolphthalein is a synthetic indicator and its colours in acidic and basic solutions
respectively are (0.5)
(a) red and blue
(b) blue and red
(c) pink and colourless
(d) colourless and pink

3. Which substance is injected by ant sting and wasp sting, and how are they different? (2)
Turmeric is a natural indicator. On adding its paste to acid and base separately, which colors
would be observed? (1)

SECTION-E (2X5 =10)

I. The Following statements describe the five steps in animal nutrition. Read each statement and
give one word for each statement. Write the terms that describe each process (0.5x5=2.5)
(a) Transportation of absorbed food to different parts of body and their utilization.

(b) Breaking of complex food substances into simpler and soluble substances.

(c) Removal of undigested and unabsorbed solid residues of food from the body.
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(d) Taking food into the body.
(e) Transport of digested and soluble food from the intestine to blood vessels.

II. Explain
i. Nitrogen is an essential nutrient for plant growth. But farmers who cultivate pulse
crops like green gram, Bengal gram, black gram, etc., do not use nitrogenous
fertilizers during cultivation. Why? (2)
ii. Whatis cud? (0.5)
OR
I. Label the following parts of the figure and name them. Match parts a-e with labels 1-5
(0.5x5=2.5)

a. The organ that releases digestive juice into the small intestine.
b. The largest gland in our body.

c. The organ where water gets absorbed.

d. The organ where protein digestion starts.

e. The organ where bile juice gets stored.

fd
Il. The swallowed food moves downwards in the alimentary canal. Explain. (1)
lll. Define oral rehydration solution and when it is given to the patient. How can you prepare ORS
at home? (1.5)

26. A.Rahul was a student of Class VII. His father purchased a new bicycle for him on his birthday.
After few months, he found that the cycle chain and even the handle gets rusted. His father
advised him to apply a coating of paint to the cycle and not to keep it in the open in future.

Now, answer the following questions: (1x3=3)
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(a) Why his cycle gets rusted?
(b) What do you mean by rusting of iron?
(c) Write down the equation representing the process of rusting.

B. Seema added baking soda with vinegar, and bubbles were formed with the evolution of a gas.
After carrying out the neutralization reaction, the test tube immediately found to be somewhat hot.
Explain why. Name the gas evolved in the process. (2)
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General Instructions

Read all questions carefully.

There are internal choices in questions.

There are a total of 30 questions.

Paper is divided into following sections with varying set of questions:

SECTION A - OBJECTIVE QUESTIONS Q. No. 1-16 (1 mark each)

SECTION B - VERY SHORT ANSWER QUESTION Q. No. 17-21 (2 marks each)
SECTION C - SHORT ANSWER QUESTIONS Q. No. 22-25 (3 marks each)
SECTION D - CASE BASED QUESTIONS Q. No. 26 and 27 (4 marks each)
SECTION E - LONG ANSWER QUESTIONS Q. No. 28 and 29 (5 marks each)
SECTION F - MAP WORK Q. 30 - 30.1 - Geography, 30.2 History (1 mark each)
5. ALL QUESTIONS ARE COMPULSORY

PO~

SECTION A - MULTIPLE CHOICE QUESTIONS

Q.1. Todarmal was 1
a) Mughal Emperor
b) Mansabdar
c) Revenue Minister
d) Bandagan

Q.2. Fossils are found in which type of rocks? 1
a) Intrusive Igneous
b) Metamorphic

c) Sedimentary

d) Extrusive Igneous

Q.3. Governor is appointed by: 1
a) Prime Minister

b) President

c) Chief Justice of India
d) Chief Minister

Q.4. Which of the following statements are not associated with the term Good Health? 1
a) Answers of mental strain

b) Free of illness

c) Cramped conditions of living
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d) Pollution free environment

belongs to?
a) Delhi Sultans
b) Cholas
c) Mughals
d) Rashtrakutas

Q.5. Match the following columns with correct options.
COLUMN A COLUMN B
i) Kayasthas 1) Pan- regional Empire
ii) Cholas 2) Delhi Sultan
iii) ulama 3) A caste of scribes and secretaries
iv) Ghiyasuddin Balban 4) learned theologists of Islam
Choose the correct option from below which has all the options correctly paired.
a) i-3;ii-1;iii-2; iv-4
b) i-3;ii-1; iii-4; iv-2
c) i-2;ii-3;iii-1; iv-4
d) i-1;ii-2;iii-3; iv-4
Q.6. Which landform feature of the river is visible over here in the image given?
Ox-bow Lake
Loess
Meander
Valley
Q.7. Which of the following endogenic forces is not an effect of a sudden force?
a) Earthquake
b) Volcano
c) Building mountains
d) Landslides
Q.8. Identify the kingdom or Empire to which this art form or sculpture
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Q.9. "In the 1975 film, Deewar, a boy who works as a shoeshine, refuses to pick up a coin
thrown at him. He insists his fee should be given respectfully."
When the person threw the coin at the boy then, why did he refuse to pick up the coin?
a) It was not enough another for him
b) He felt there is dignity in the work he does
c) Boy did not want to pick up the coin
d) None of these.
Q.10. Sisodiya rajput of refused to accept Mughal authority for a long time.
a) Chittor
b) Agra
c) Kalinga
d) Mewar
Q.11. The Civil Rights Act was passed in
a) 1962
b) 1963
c) 1964
d) 1965
Q.12. Which of the following is not associated with functions of Public Health Services?
a) Provide healthcare to all citizens equally available to everyone
b) Provide either free or medical facilities at nominal charges
c) Take action to prevent supported of communicable and non- communicable
diseases
d) Prescribe unnecessary tests and medicines to generate revenue
Q.13. ASSERTION: Bandagans were loyal to the Sultan not to their heirs.
REASON: Slaves were appointed to important positions.
Choose the correct option:
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is NOT the correct explanation of A.
c) Ais true but R is false.
d) As false but R is true.
e) Both A and R are false.
Q.14. ASSERTION: Our environment is changing.
REASON: Unsustainable human activities to fulfill their demands are destroying natural
surroundings.
Choose the correct option:
a) Both A and R are true and R is the correct explanation of A.
b) Both A and R are true but R is NOT the correct explanation of A.
c) Aistrue butRis false.
d) Aisfalse but Ris true.
e) Both A and R are false.
Q.15. ASSERTION: Britishers divided British history into three time periods.

REASON: the division was based on the religion of rulers of that time period.
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Choose the correct option:
a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is NOT the correct explanation of A.
c) Ais true but R is false.
d) A s false but R is true.
e) Both A and R are false.

Q.16.

ASSERTION: Greatest damage from earthquake is at epicenter.
REASON: Strength of earthquake waves increases as we move away from epicenter.

Choose the correct option:
a) Both Aand R are true and R is the correct explanation of A.
b) Both A and R are true but R is NOT the correct explanation of A.
c) Aistrue butRis false.
d) Aisfalse but R is true.
e) Both A and R are false.

SECTION B - VERY SHORT ANSWER QUESTIONS

Q.17.

"In a democracy, people elect their leaders, thus, people have the main authority "
Why?

Q.18.

a) Is healthcare equal for everyone in India? Give an example to support your
opinion.
OR
b) Who are referred to as Medical tourists?

Q.19.

For which city was the Tripartite struggle fought? Which were the parties involved in
the conflict?

Q.20.

Identify the erosional feature shown in
the image and state why it is in such
shape?

Q.21.

a) Mention the types of taxes levied by the Sultanate
OR

b) Give a brief note on challenges faced by the only women leader of Delhi
Sultans.
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SECTION C - SHORT ANSWER QUESTIONS

Q.22.

What is Mid-Day meal scheme and how does it promote equality?

Q.23.

Write a short note on the "Composition of Air".

Q.24.

a) Explain the Interior structure of Earth.
OR
b) Society debates the work done by women in houses. Why does this
happen?

Q.25

Define the following terms: - (ANY TWO)
a) Majority
b) Constituency
c) Opposition
d) Press Conference

SECTION D - SOURCE BASED QUESTIONS

Q.26.

On the basis of source below answer the questions mentioned below:

"By 700 many regions already possessed distinct geographical dimensions
and their own language and cultural characteristics. They were also associated with
specific ruling dynasties. There was considerable conflict between these states.
Occasionally dynasties like the Cholas, Khaljis, Tughlaqgs and Mughals were able to
build an empire that was pan-regional — spanning diverse regions. Not all regions
were equally stable or successful.

When the Mughal Empire declined in the eighteenth century, it led to the re-
emergence of regional states. But years of imperial, pan-regional rule had altered the
character of the regions. Across most of the subcontinent, the regions were left with
the legacies of the big and small states that had ruled over them. This was apparent in
the emergence of many distinct and shared traditions: in the realms of governance,
the management of the economy, elite cultures and language. Through the thousand
years between 700 and 1750, the character of the different regions did not grow in
isolation. These regions felt the impact of larger pan-regional forces of integration
without ever quite losing their distinctiveness.”

26.1 Why has it said that " Through the thousand years between 700 and 1750,
the character of the different regions did not grow in isolation" ?
26.2 What were the effects of the decline of the Mughal Empire?

Q.27.

On the basis of source below answer the questions mentioned below:

"While the earthquake cannot be predicted in advance, it is possible to give a
three-hour notice of a potential tsunami. Such early warning systems are in place
across the Pacific ocean, but not in the Indian Ocean. Tsunamis are rare in the Indian
Ocean as the seismic activity is less as compared to the Pacific.

The tsunami that ravaged the South and Southeast Asian coasts in December
2004, is the most devastating tsunami in the last several hundred years. The large
damage caused to life and property was primarily a result of lack of monitoring, the
early warning systems and knowledge among the coast dwellers of the Indian ocean.

The first indication that a tsunami is approaching is the rapid withdrawal of
water from the coastal region, followed by destructive waves. When this happened on
the coast, instead of people going to highground, they started assembling at the coast

H W+ =
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to view the miracle. As a consequence there was a large casualty of curious
onlookers when the gigantic wave (tsunami) struck."

27.1 Tsunami in December 2004 originated near which Island? 1
27.2 What are the signs of the approaching Tsunami? 1.5
27.3 What was the damage caused by the Tsunami of 2004? 1.5
SECTION E - LONG ANSWER QUESTIONS
Q.28. "Societies make distinctions between boys and girls. How? Explain with 5
examples.
Q.29. Give a detailed account of the agriculture of the Cholas. 5
OR
There was economic inequality during Mughal rule. How? 5
SECTION F - MAP BASED QUESTIONS
Q.30.1 GEOGRAPHY - Identify and locate on given WORLD map:
a) Largest river of world 1
b) Pacific Ocean 1
Q.30.2 [ HISTORY - Identify and locate on given map of INDIA:
a) Delhi 1
1

b) Territory controlled by Palas
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‘%' TT: - SUfSaTasy=7 10 ST
1. Sreifeifad merist ufSar ueausmm Ifor S5pd= forad - 10
G TN SHcitd UTA-THTST S | QT STAfor {TT Sifd | Uo7 Fatdi vTeTon ST SifEd | S HTsT 31HTeh
G&pd: YT A& | deT: IHRIUT T T¥hd T AT | SXpdH 37cfia TRT, =T, HYRT AT S1fEd | sfimgmagiarn
GEhaUTNIT U fAerd | 31eHTeh HIhRY HEhd™ SUINT: Hafd | HEhd® Us Hdui hd tfard @id |
GEha IAT RO IATd: WIHT Jfasafd | IYAT TR iU heied add adq ad 9d Afdar dwepd
TRV T HH: | Idlfg T8 STHIH: I SXhd IJad! T SHATRA Afd: 3fd 77 faar: |
TRUSH IR (haet UHgaH)
(i) TERAHTHT chigaft 1o S
(ii) S&pa= fohr, Tdui ot S1fAarf &g ?
(iii) TR 9T T ST ?
311, gofared forad (dhae Ugaq)
(i) = GEhd= IUINT: Hafd ?
(i) P IFAT MRATEH IA1d: WA Jiosafd ?
(iii) e SrEATRH 3T fohr hvied add ?

3. I I Fd IuTh ik Hxpa- ferad |
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5. RS 3R (et U=+
(i) “ 3<T: IHTICT T Thd TF If ' 3T TR ShdfueH foh S1fd 2

(@) (@) % (m) =

(ii) " THIITIT Srclta TTRTTST 1’ SIS TR fasiwot ug fhy 2
(ep) Srdla (@) v () srfa

(iii) STELAT STHATRA U hxicd Idd ' 3T AT HeAgUeH ford ik ?

(@) s, (@) Sifd () et
(iv) " Ia=rTeT ' 3fa vew foh faeitAad st g ?
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() G+-——+-—+F +3 +d+ 37 = ufvgar
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Q. quikdeH ed

(i) G+ +3M + T+ 3T+ + A+ =

6. SreffRATaTRY Farsfraudy G afRead a1 god (3act HeEgEaH)
(i) Trafg: feferrererd |

(i) htori g Eregparvert s A |

(iii) &7 SSATAET + S FrAvedr el |

(iv) & 3T+ Qg ay |

(v) 1 Rifte RERiere 98 IrhIqR <ar+-3iTerd faTeH e |

7. 3 fasmed e Rereuriafd god - (et usigam)

() Foa (@) °@ (71) A59H (9) T

8. 3fafdwed Rerer i uxaa (Fae wseaq)
(i) -— Srefen! T |

(@) @1 (@)@ (M@

(ii) - Sfrepr: E2rrehr: If<y

(@) dd (@ @ (md () am

(iii) - oo e SdgEETeT S |

(%) @ (@) 9= (1) 99 (&) I

(iv) STeTeh: - STeTeh 98 Uafd |

(@) &: (@) @ (m) T ()

9. IFafdewed Rereur ™ qzaa (Fact U

(p) TeBTd (@) TS () TS (9) TS
(ii) aferapr: @ — |

N. K. BAGRODIA GLOBAL SCHOOL, DWARKAPage 4




() usfd (@) gsf=r (1) Ut (°) Ua™H:

(iii) effa=T: aF — |

() TSI (@) TR, (1) TeET: (6) T
(ivydgd —2?

(@) ferefa (@) ferea: () ot~ (v) ol

10 - sreifofeEaarey Wargfhaueami uefa-uer datsy fasrsy ar 3feaH St fweda: fRrar foraa (daet
UHAGH) 3

(i) S1E PISeUEHY Sqerred Tl |

(ch) S1@ + TH + Y (W) 3d + T + Y (1) 31T + TH + <Y (H) 31 o + Y

(ii) T = T sfd |

(&) T+ T (@) T+ T () T + T (3) T + FA

(iii) G, 2 1: ;ST |

(@) Z+ FEL(Q@) F+ T () & + T (9) & + heall

(iv) 0T el g ol |

() P, + AT (@) F+ FA (M) B +FAT (F) F o+ FA

11. Sfareagud: Repemfa qraa (dhae us) 3
HooNT ( #f, =7, 314, I=: )

g WIT: UfSaTaetY
12. sreifafEa merisr ufar ueausmmd IRty S feraa - 4
deT=aR ufugdT IHTETE YT HARAAT g SAYfH AgRTE TN, | AR SR U8 = 91 wehrd

St et | gUeR- {18 - ST grer ARIfASAYS 91 THd UEddad! | 91 Ieafuemdd greveder
gt | 97 SHEYHY Sifdwgds: Iqafaer: gwrfaar Sirdn

SIAUZELTA THTETS SHIRIEH ST | a7 U1 WRAW fauaraiion graardd srdasaad sieiid| WRd
U e 91 'ARET-Ue-H ' $Tgd | S1fe s g o fAaaf~ @11 a7 fo@: geor-
TEhUT- RIShATEHTST UIALUHT dH= T | UH 3¢ &+ JUHTR RIM-IRG STdH| dd: JUI-RE JHY
heTIa- T GihAA' A8 I a1 RfUad ) & g1 it fARifSydan: (S g S argaf |

31, YhueH Javd | (chae UHgaH)
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(o) FIUSEAT THISTE o SFT=BA?

(@) grasR 471 foh g ?

() 'HiRhAA A I 9T g Wi ?

3. YUfaTeR STRd| (Fael UHUHH)

() forg: a7 foh ufAeromfT s &1 2

(T) T GEH Sfta= aTgaf= ?

3. EITaRT 3<_a | (dhaet UigaH)

() ' aresagH, ' gfa o s foh ud ogehH 2

(@) fregemn: fom: ' arerd fohe fasisaue vgens 2

(1) I T YR fAerareAion ' a1’ sreaaue foRe ?

14. sreifaf@d verish ufd@r yeausmm IOy S foaa
g fifor I Ster g, |

H&: UTSTURgUSY Ierea farefad ||

3, YU Iavd (hdct IHgaH)

(i) gfdei spf It 2

(ii)) STet foh orfea 2

(iii) R O™, S1fY T Sifeq 2

1. gufareds ITRd (et UHTHH )

(i) Tt foh ok ~rafar 2

(ii) 7&: T e fadad 2

3. PRy Sw=a| (Fad usiga)

(i) g qud A’ 3 fopamug fohmy ?

(ii) ' oo ' 37 ue faeug seterq foran forad 2

(iii) “ SO T “ 3 faiooTy fehe 2

15.srefafed Areist ufdar Heausmn SwRifor degd forea -
g - " foh efferroTt arat spar srepm foh org A2

g4l - "UTa: I IfRAd deh<ieaH)

GH: Saed- "HaH | d¢ TUTSEH 310 §< TealH aAT Hoa]
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g4l - arai foh seara?”
GH: - 31¢ JATHT T HTRITATIUT 3= T IH BT |
g9t - " 31 &: IU: ?

%H: - "Gl hISUSH Yeh To<dl YRIATH, | 318 hISSUSHE JHdelred Jadl: UsTecl- g MAsmia | " g4t -
"TRIGA QW: U | foheg 3731 Ueh: Sruratsit adfd | srareat iawm amaete S fhfstig

afesaf~r ga |
3. Yhue IRd (Faet UHgTH)
(i) 31€ gari Tg SATRIRHNTOT 30 7T gl |" 3fd &: aafd ?

(ii) "ura: I 3 ach<iead ' 3fd & agfa ?

(iii) oh: PTSGUSHL Sfaerrd =g TSl ?

311, gufared= IR - (haei UH-UHH)

(i) &9t &: 3U: gad: ?

(i) GHH: h: IUTT: 3raed ?

3. FRdangaRy S<Ra | (drae Us1gaH)

(i) ' 3@ ' 3fuew faemug merist foh TRgehe ?

(ii) “ ST: fonforre afesaf~ @@ ' o shqug fore Sifedt 2

(iif) * 37efT by 31 RAA? ' @) b, oy 2

16. ¥@TEfohd - Ui Sty usiAafvl H&d (haet usdagea) 4
(i) Foreman: <Ry aeherosT: t o7dq |

(ii) U: FRUTH=IR IATETE HERTE U< |

(iii) Tfeg: A5 pdfa |

(iv) TTeITS PSR ‘ARE-HETH, ST

(v) SE arfd arg: |

16. FSouId: FHfAauar Rt srifafed e sad gxad - 2
ST TanTYy femar: Sugy A |

JTER AR T Achetool: T 9dd |l

g R G TR ............ GURY T ............. TAER T Ihetool: (T TI T) ........ e ||
Hoo[uT- gt , e, faemar:, e
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18. sreifeifEa arrly ¥@ifdhaueHi ga et wHTATueH R forad-(dhae usigad)

(i) sftervsy fordT g Sfiq

(%) STIeh: (@) fe: (1) gt
(ii) I &1 JFehT: R rf gty |

(%) aRem: (@) PHPR: (1) @
(iii) T=F PR M go: a7 foh sivsafa 2

(eh) X (@) gF: (1) ISoi:

2

N. K. BAGRODIA GLOBAL SCHOOL, DWARKAPage 8




N. K. BAGRODIA GLOBAL SCHOOL, DWARKAPage 9




